N = 0l &8 AF S H ANl A
2008 &= 20 A LB A
SN2 AA
M 2H2R U AN
chel:Jlsl 9 B} (Se:ad)
SN (BH) - MBEAY - BAS 0 Ak 2 i HRE2
7,892,578 11,586,080 A 3,693,502
RN : 010,00
< 4,038
= 7,278,540
910,041 750,459 159,582
228 U IF = 4,08
= 906,003
EEE= 426,110 337.864 88,246
=& | = 372,960 289,400 83,560
201 LBt AH| 79,060 30,500 48,560
01 AFR2t2ldl] 78,350 30,500 47,850
OBt H| 78,350
~THYY HEB AN M
30,000& = 1002 3,000
~2FNE #B HX(2Y, S9)
25,000,000& 25,000
—2EHAIM SIS} KE
20,000& = 1,00082 20,000
—FQAIHEE 22t 5,000& * 5005 2,500
—2+3 & 20,000& = 1,0008 20,000
—2 A S8 I S22 SEME
1,600 * 1,0000H 1,600
—Z AR FS0/0t HIZ&
2,500& * 5000H 1,250
—F=QAUAPAIHAHE HA HE
10,000 * 5005 5,000
02 =329bl 710 0 710
O3322 ¢ HMHAl 710
—2EAIM SIEMI} £2
1,420& * 500H 710
202 (4l 21,600 21,600
01 22Ul 21,600 21,600
ORFAN U AMEA
225,000& = 128 » 49Y * 23] 21,600
203 &R =&H| 2,300 1,300 1,000
03 AIMF=XHI[E=XH| 2,300 1,300 1,000
OZ &) 22F&A 200,000& = 53| 1,000
OZFIIEAM FX 130,000& = 103l 1,300
207 A O | 230,000 200,000 30,000
01 H3xxE49H| 230,000 200,000 30,000
OHEREIIZELHIE 25
150,000,000 = 14 150,000
OBdESZAH CIAR Y
80,000,000& = 14! 80,000
301 LEtgEAZ 20,000 30,000 A~ 10,000




A1 0I 22 AR
a

B 2H28 U A
chel:Jl=l 9 B} (Se:ad)
SN (BH) - MBEAY - BAS 0 Ak 2 %*l‘;f{gf; inE=Er
12 JIEIE &3 20,000 30,000 A 10,000
OHEZHME 24 (0l2tel)
20,000,000 20,000
303 LAa2 20,000 6,000 14,000
01 ZaZ3 20,000 6,000 14,000
OHURHOHE 2 (228)
20,000,000 20,000
F=RIEXE 33,500 29,400 4,100
201 Yet2AH| 17,500 12,200 5,300
01 AtR2t2lbl 13,500 2,200 11,300
Ogddt=24| 10,600
—=QAUIFEHIL AIHAHE HA HE
10,0002 * 500% 5,000
—HHANRUA 2 LA2E 2
600,000& = 13] 600
—JI0tE3d 22 EE2 &
5,000,000& 5,000
G- 2,100
- E-E - R
70,0008 = 10 * 33| 2,100
ogdxs 800
—JlOF23HH MNOoIL 23 &M Xt
IRIbN 400,000& = 23| 800
03 AI2HH| 4,000 10,000 26,000
OJIoI23H& 100HAIZ Z2HEAL 2H
4,000,000 4,000
203 R =&H| 4,000 7,400 A 3,400
03 AIBF=XHRFEZXIH| 4,000 7,400 A 3,400
O HEE o =X
20,000& * 30H * 53] 3,000
O93zgsd 2= 1,000,000& 1,000
301 LetgE A= 7,000 9,800 A2,800
10 SAIAHIEAZ 7,000 9,800 A2,800
OJIOI2SHd KNSLMSAMBASE O A
50,000& = 10 x 43| 2,000
OJIoFRstd gtesas (st Jolg)
250,000& = 109¥ = 23| 5,000
306 =EH= 5,000 0 5,000
01 292 5,000 0 5,000
O=2XNERNEMNt &=2H2
5,000,000& * 13 5,000
o 2 gtz 19,650 19,064 586
201 Let2AH| 19,650 19,064 586
01 AtR2t2lbl 19,400 18,180 1,220
Odet+=24| 18,000




SEAIIEZ A
a

MM 2H2R U AN
chel|sl ol Bt (SH9:8d)
SN (BH) - MBEAY - BAS 0 Ak 2 i HRE2
—2HEY U WIS ARE 7Y KA
1,000,000& = 33 3,000
— A g2t 50,000& * 3005 15,000
Osgsg 1,400
—AMEINRAS B Y
70,000& = 10Y = 23 1,400
02 B2 250 834 £634
OzZ222 2 HAl 250
~2HB MM 2B 8%
2503 = 5000H * 23 250
A8NE 2SS 334,700 272,160 62,540
HarEd 208,500 149,310 59,190
201 8tE249H| 90,580 75,010 15,570
01 AtR2t2lbl 74,630 59,830 14,800
Ogddt=24| 48,960
—J|A=sS2d 30,000,000& 30,000
—22t AMX2EN SATPS
5,000% * 1658 = 128 960
— Ol AFOE AP AN O
30,000& * 505 * 43 6,000
— Ol AN OIA 50,000& * 605 * 43 12,000
O2gsg 5,670
—SXAARIRE ALY
70,000& * 5 = 33 1,050
~ NS ES AR B AL
= 70,000& * 10H x 23] 1,400
—XNEHESAMAR IS HAE
70,000& * 6YH x 23] 840
S EP EPNE - P PN
70,000& x 7Y = 23] 980
—FOFOHNRINI FaLY
70,0003 * 20H * 13 1,400
O=&t| 20,000
—JABESY 20,000,000 20,000
02 2249l 15,950 15,180 770
OAI& &HI s X 15,950
—MESEAAE S22 15,950,000& 15,950
202 (44| 100,800 60,200 40,600
01 22Ul 100,800 60,200 40,600
oOJIass29 90,000,000& 90,000
O=&H| &8 =&
225,000& * 4H = 128 10,800
203 &R =&H| 3,000 2,000 1,000
03 AIFXHRFZXIH| 3,000 2,000 1,000
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Sk
X XH .
S Tt

ool

JEENA
2328 2 =¥
HHWE 9 HYAD

SN (BH) - MBEAY - BAS 0 Ak 2 agi inE=Er
—g2&8= 3,954,000& * 0.021 84
& 84
XS H 2 48,983 35,716 13,267
101 @A | 14,528 14,486 42
10 JIZtHZ2ZXNSEx 14,528 14,486 42
OAMLH JIZEEHZ A 14,528
—ZANRLE
41,6203 = 58 = 202 * 0.75 3,122
—ENTET 2
39,760 * 1% = 9& % 0.75 269
—2 XA 41,620 = 109 = 252 * 0.75 7,804
— T AFZE]
41,620& * 1 = 252 % 0.75 781
—UsBZE
39,760 * 2 x 232 x 0.75 1,372
e
39,760& * 2% x 152 % 0.75 895
—BE= 14,243,000& = 0.02 285
201 Let2AH| 13,855 13,130 725
01 AtR2t2idl 11,500 10,750 750
Odet=&H| 11,500
—SHAS L2t 50,000& = 2008 10,000
—SHZAL EE= &
50,000& = 1500 = 23] 1,500
02 s2249H| 2,355 2,380 YANZIS)
O2222 2 HMA 2,355
—SHHE E L4523
2,500& = 15052 375
—SEH XA X oHE Es2
2202 = 4,50000 * 23] 1,980
202 (4| 8,100 8,100
01 22Ul 8,100 8,100
o2& SH Az ZA
225,000& * 3" = 128 8,100
308 AXIHHMSOIA 12,500 0 12,500
05 ANXSHHZ2ARESE= 12,500 0 12,500
02008 HZSH A 250,000,000& * 1/20 12,500
HHl -8y XE 22 13,300 17,750 N4 450
201 LBt AH| 7,300 11,750 N4 ,450
01 AR 2t2ld] 7,300 11,750 N4, 450
Ogt=2H| 7,300
—(feoI=2SHEHHE FE 2
80,000& * 65 * 103/ 4,800
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Sk

JI = Z AL

SsipoopEssze (B )
SN (BH) - MBEAY - BAS 0 Ak 2 %*l‘;f{gf; inE=Er
ogs4 3,640
— =SS LAIE
35,000& * 20AI2F x 23] 1,400
~DESD BONAY 59 HMLY
70,0008 * 8YH = 43| 2,240
03 EAIS2HH| 5,000 0 5,000
OHOIATIXI TH3l (MBS AE)
5,000, 000& 5,000
ras 5,000
202 04l 8,100 11,400 A 3,300
01 =Z2UWHbl 8,100 11,400 A 3,300
ORSS? 2t %gs 2 93
225,000& = 3% = 128 8,100
203 2= Y| 800 800
03 AIMFXHRFZAIY| 800 800
OEFNIAHR 4= 400,000 * 23| 800
207 o1t H| 30,000 0 30,000
g 30,000
01 H3xxE49H| 30,000 0 30,000
OARUDEETSY 2 AL (MBI
30,000,000 30,000
g 30,000
=0l HiX 370,400 396,900 N 26,500
308 AHXIEXM SOl & 370,400 396,900 AN 26,500
06 wWRIIZoCst2x2 370,400 396,900 N 26,500
ODnmw 2=l AL HHXI(8H)
277,600,000& 277,600
O =01 A BIXIEY 92,800,000 92,800
770,493 531,900 238,593
AHMEHE 2H e 496,400
2 274,093
770,493 531,900 238,593
308 AXIHHMSOIA g 496,400
= 074,093
06 wWRIIZHUstEXE2 770,493 531,900 238,593
OHOHBAT S (AEAY) 770,493
_ oo MEAT 012 vy (82)
245,393,000 245,393
—gGNEsHE 29 225,100,000 225,100
g 196,400
= 28,700
—SHEAEZT AIE2HH
300,000, 000 300,000
g 300,000




S LPIE N,
=R R TIDEYE

SR NSSR2Y (SH9:8d)
SN EH.S(3) - MEAY - BAS O At ot i HIRS 2
274,660 291,800 A 17,140
MOIHRI=HESHEH 293 = 78,600
= 196, 060
274,660 291,800 A17,140
308 AHXISHMSOIA hag 78,600
= 196,060
06 wWRIIZUstExZ2 274,660 291,800 A17,140
OAOIHZ0SSHE SH(MNESAIY) 274,660
—AIOIH 2SS HE Q28X (6Y)
194,260,000& 194,260
—AMOIHA=20HESHEH &9
80,400,000& 80,400
iy 78,600
= 1,800
(:Ns]Rs]] 4,171,730 8,581,097 A4,409,367
ol 81 dl 4,171,730 8,581,097 AN4,409,367
(G:]HsTNs]] 4,171,730 8,581,097 A4,409,367
801 0ilBl bl 4,171,730 8,581,097 A4,409,367
01 doldlbl 4,171,730 8,581,097 A4,409,367
(@) ks]Ns] 4,171,730,000& 4,171,730
AFSIEHH B X 390,000 390,000 0
ASI BRI B 390,000 390,000 0
M EHH X 390,000 390,000 0
307 2I12+01 A 390,000 390,000 0
03 AIZIHHEXRZ 390,000 390,000 0
(OPIE=R=3= 390,000,000 390,000
HYESAHHI (D22 AR 55,244 58,884 A 3,640
ClA2HHI (I & 2 ALA!) 23,280 24,360 A 1,080
IHASHHI (D& L AA) 23,280 24,360 A 1,080
203 R =&Y| 7,200 7,200 0
01 JI22ILIRFAYI 3,000 3,000 0
OJIEZAIA H(43) 3,000,000& 3,000
04 ENSIYERFZEHI 4,200 4,200 0
ORMN2HEYRFAHI 350,000& * 12& 4,200
204 HPHZFH| 16,080 17,160 A 1,080
01 ZMIALas:AY| 4,200 4,200 0
OXHMZHRFAH| 350,000& * 12& 4,200
03 SHYR>HESH| 11,880 12,960 A 1,080
Oouaegds2R 150,000& = 4% = 12& 7,200
O AMNEYSRE 80,000& * 3H x 128 2,880
OgREYsR22 50,000& = 3H x 12& 1,800
JI2Z3H| (D&l 2ZHAHA!) 31,964 34,524 A2,560
JI=2HY| (D& 2FArA!) 31,964 34,524 N2,560
201 LBt2AH| 20,664 23,124 N2,460




Sk
X XH .
S Tt

ool

EEIPN
EEEEELGIEEDNEN

5|2t ALAL)
|22 (181 2HALAL)

SN EH.S(3) - MEAY - BAS O At ot dd 5 HRE2
0 At o8
01 AtR2t2lbl 20,664 23,124 N2,460
Ogtt=ZH| 8,784,000& 8,784
Oz &l 55,000& = 18 = 12& 11,880
202 o4 H| 10,800 11,400 A 600
01 =Z2UWHbl 10,800 11,400 A 600
OJl2gf2sd 50,000& = 18 = 12& 10,800
405 XHAHR S| 500 500
01 AL 2 ESFSHI 500 500
OMEEZE HAD| ¢ 500,000& = 1CH 500

_10_



